/fecalculow Unit 6 Homework—Law of Cosines and Areav of o Triangle

/ Solve each triangle. Round your answers to the nearest hundredth.
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8. Suppose a triangular playground has sides of lengths 475 ft, 595 ft, and 401 ft. What is the measure of the largest
angle between the sides? ?5 , o

9. A bicycle race follows a triangular course. The 3 legs of the race are, in order, 2.3 km, 5.9 km, and 6.2 km. Find the
angle between the starting leg and the finishing leg.
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Mr. Smith and Ms. Powell walk from opposite ends of a city block to a point on the other side of the street where they
are having a math convention. The an

gle formed by their paths i o : '
walks 320 ft. How long is the city blo yheirpaths is 257, Ms. Powell walks 300 ft, while Mr. Smith
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11. Two planes leave city A, one heading straight for ci

the planes is 18°. Estimate the distance between cj ght for city C. The angle formed between
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13. Find the area of the parallelogram.
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—+& If an acre of land is valued at $700, find the value of the plofﬁmd shown below..
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